J7°70] m@s@v\

:1osedaud

:juapisaid pieog Aq paaoiddy

Jjuapuajuuedng Aq parociddy

V9’ LPE'BTIY'SYS [€8'888'290'0Z$  |EB'6L6'686'9% DO°606°2L06T$ L'9ET'T8Y'TLS |00°000°£69°9T$ L6°0E9'VLTES 0S'S09°605'TS$ 3NU3A3Y pung
Aseuoj1a.3siq

1230]

00'0% 00'£06'686'CS 00°0$ 00°£06'686'CS 00°L06'686'75 00'0S 00°0$ D0 L06'686'CS BY0
00°€ET'6E'TS SO T/LE'TS S9TLETS 00°0S S9'09'0r8'TS 0005 S9TLE'TS NO'EET'6EB'TS uondQ yse)
00°0$ 00°Z00'€E6'9S 0005 00'Z00'EE6'9S 00°'CO0'EE6'9S  |00°0S 000$ 00'TO0'€E6'9S aa
00" 7Sy 0E9'TS 9.°0T2'26T'TS 9,022'26T'TS 00'0$ 9/'v/9°TT6'ES 0005 06 1/8'945% 98 ¢08'SYE'ES nma

D0'000°008'¥$

T LBE'IVBETS

1 £8E'969'YS

D0"000'0ST'6$

90°'870G6L'35S

D0°'000°269'9TS

Ty 18€'969°7$

¥9'099'T0V'9€S

sasuadx3 |e30]

ljoiAeq ST/0T aduejeg ST/0T Yydnoayy ST/0T Ay
€307 yuow n_nn__n>< mw\._aa__u:unxw o} u\\.\?_m_nm St/o1oiT/L yanoays awioou| ST/0T01T/L pa u3 paiaquinauaun uonduisag
a323f04 9193[04 -uop paafoy Asejes papafoid sjqe|ieay {pawafod | lenpy -
T pajaloig paws|oid P3133j0id N pa1sio.d papafoid

Qs eusuyD aousig
£20Z-1D :pouad jsesaloy

£20Z ‘L AInr jo se
tonwﬂ_ uol}lisod jeldueul




